
Trumpet in Bb 2, 3

mf p

Part 1: "With Heart and Voice"

with apprehension q = 60
double - time q = 120

8

1

f

12

12

ff

19

18

p

accel. slightly faster q = 132
29

25

f

44

44

47

52

52

accel. 

56



 




 

ACROSSACROSSACROSSACROSS
Craig Andrew Fitzpatrick (ASCAP)

2015

Inspired by "With Heart and Voice' by Gillingham and "Bridge Over Troubled Water"






  



 3 3  3 3

 




       

 
   

  
 

   
  

 
   

  




 


           

     

    
      

      
      

        

 
  

                 

             

        



f

driving q = 16060

60

ff69

76

81

87
Transition / Part 2: "160 BPM"

quickly q = 16093

93

f

105

105

f

117 129

116

ff
132



 

  









 





   




  




                 

          

 

    





 
 


    


 


 


    



 
 
 


    


 


 


    


 

 
 


          

 




  
    

           

          

                       

                     

               

   



Trumpet in Bb 2, 3
2



139

139

fp ff

149 165

147

fff
170

mp mp

Part 3: "Bridge Over Troubled Water"
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Part 4: "With Heart and Voice Reprise"

with growing intensity q. = 66224
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